PEE— N

o, -

| — \_/;___ \_/_____—

A CPBSE Coaching for Wthematlcs and Science
ARITHMETIC PROGRESSION

(Key Points)

e Arithmetic progression (A.P.) :- An A.P. is a list of numbers in which each term is

obtained by adding a fixed number to the preceding term except the first term.
e This fixed number is called the common difference of the A.P.
e [faisfirstterm and d is common difference of an A.P., thenthe A.Pisa, a+d, a+2d,

e The nt" term of an a.p is denoted by a, anda,=a+(n-1) d , where a = first term and d =

common difference.
e n'term from the end = - (n-1) d , where | = last term.
e Threetermsa-d, a, a+d are in A.P with common difference d.
e Fourtermsa-3d, a-d, a+d ,a+3d are in A.P with common diff. 2d .
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e The sum of first n natural number is iG]

e The sum of n terms of an A.P with first term a and common difference d is denoted by

Sy = 22{ 2a+(n-1)d }also, s, = g(a+l) where, | = last term.
e a,=5,-S,_1. Where a,=n'" term of an A.P
e D=a,-a,_1. Where d = common difference of an A.P.

Problems for self evaluation.
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. Show that the sequence defined by t,,=4,,+7 is an AP.
. Find the number of terms for given AP :7,13,19,25,.....,205.
. The 7" term of an AP is 32 and it 13" term is 62. Find AP.

. Find the sum of all two digit odd positive nos.

Find the value of ‘x’ for AP. 1+6+11+16+....+X=148.

. Find the 10" term from the end of the AP 8,10,12,...126.
. The sum of three numbers of AP is 3 and their product is -35.Find the numbers.

. A man repays a loan of Rs3250 by paying Rs20 in the first month and then increase the

payment by Rs15 every month .How long will it take him to clear the loan ?
The ratio of the sums of m and n terms of an AP is m? :n? .show that the ratio of the mth

and nth terms is (2m-1) : (2n-1).

. . 3n% 5 L
In an AP, the sum of first n terms |s% + 7", Find it 25th term.



